260086

IF CUSTOMER NEEDS A REPLACEMENT JACK, REPLACEMENT PARTS LIST

RNR MACHINERY MOVERS [THEY MUST ORDER THE 270429 KIT \ TEM| P/N DESCRIPTION QryY
1 270429 | KIT: REPLACEMENT JACK NEW 2
. 2 | 108149 [SCREW: HEX HD CAP (5/16—18X1)| 4
Features: —
Model RNR-2 3 | 100170 |WASHER: LOCK 5/16 MED SPLIT | 4
- Heavy duty capacities up fo 5 tons — the most b\'/‘;tlg " ?60 bs /pair 4 | 100069 | WASHER: FLAT (PLTD) 5/16 SAE | 4
economical way to h an move large Uulky loadas. . ”» »
— Swivel casters allow movement in any direction. Casters: 5" X 2" > 054267 |CASTER, 5 x 2 PHENOUC,, WHL | 4
— Hand operated hydraulic jack for easy lifting and Phenolic 6 109642 |BOLT: CARRIAGE 3/8-16X1 16
_ ;ﬂ”m'degs'zﬁ;gﬂg doait'gﬂgz-o ‘s for recommended Capacity: 2,000 Ib/pair 7 108201 |WASHER: FLAT (PLTD) 3/8” USS | 16
optional LB—1 or LB—2 load binders. 8 | 100217 |WASHER: LOCK (PLTD) 3/8 16
OD Fork ) § 9 | 100642 |[NUT: HEX (PLTD) 3/8-16 16
Span Range:  7.25" to 17.5 10 | 106172 |[TUBING: FLEXO 2
11 | 106167 |STRIP: RUBBER 2
12 | 051717 |HANDLE: JACK (R—N—R) 1
= ~ OPTION: LOAD BINDER ACCESSORY
é N 260096 |LB—1 LOAD BINDER SET W/ DELTA RINGS| 1
260147 |LB-2 LOAD BINDER SET W/ "E” TRACK HOOKS| 1

§é

(48 3/8) (i
= OVERALL
HEIGHT
(23)
OVERALL WIDTH
-
= Aq [U oG\ ———— (O/NO
A [
Y ) ¥ )
()
(12 1/2) [liu o o Ilt”

A B

(15 1/2) _.| -
OVERALL DEPTH secTion A-A

THIS DRAWING IN ALL PARTICULARS IS WESCO INDUSTRAL PRODUCTS, LLC PROPERTY. ALL RIGHTS OF DESIGN, INVENTION OR USE OF ARE RESERVED.

1
PRINT ISSUED WS O e STRIAL PRODUCTS:, L-C
@ [ P e o PS  7—25-00
APR 2, 2018 HE RNR-2 pem—
E TOLERANCE UNLESS OTHERWISE SPECIFIED APP. ENGR
WESCO MANUFACTURING R ¥ i
ENGINEERING DEPARTMENT § A e L2 1| C— 260086 |E|




